
5 5

44
33

2 2

1

FIG. 3

FIG. 2FIG. 1

Begin by removing the existing M5 bolts located on either side of the motorcycle, as
highlighted in ‘FIG. 2’. The Pyramid logo will help with the orientation!

Proceed by orientating the Wind Deflector (Item 1) in the position shown in ‘FIG. 3’. Place 
1 x M6 washer (Item 4) and 1 x M6 spacer (Item 3) on each side of the Wind Deflector, both
in the orientation illustrated in ‘FIG. 3’.

Continue by threading 1 x M5x30mm bolt (Item 2) through the designated mounting locations Continue by threading 1 x M5x30mm bolt (Item 2) through the designated mounting locations 
on each side of the motorcycle. Tighten both bolts until sufficient resistance is met. Please 
ensure these bolts are not overtightened to avoid deforming the Wind Deflector.

Complete the installation by inserting 1 x M5 bolt cap (Item 5) over both bolt heads to
maintain the all black finish. The Wind Deflector has now been fully fitted, as shown in ‘FIG. 1’.

Please Note: We advise that all fixings are checked periodically.

The Pyramid Wind Deflector is to be fitted using the 2 fixing areas located at the top of the  
tank and above the upper fairings of the motorcycle.

Assembly Instructions

Please note: The M5 bolt caps are not essential to the fitment of the Pyramid Wind Deflector but 
we believe they greatly enhance the cosmetic appearance of the part.

NT-1100 Wind Deflector
M5 x 30mm Flanged-Button Bolt
M6 x 10mm Black Nylon Spacer
M6 Black Penny Washer
M5 Bolt Cap

08035
CBOLM50001
CSPAM60014
CWASM60004
CCAP0003

X1
X2
X2
X2
X2

1.
2.
3.
4.
5.

Kit Includes:

Any questions?
sales@pyramidmoto.co.uk
+44 (0)1427 677990
www.pyramidmoto.co.uk

Follow us on social media and 
feel free to leave us a review!


